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SYLLABUS : FUNDEMENTALS OF MATHEMATICS

1. Number of integer values of x satisfying —5<x<10 and 0<x<15is
(A) 10 (B) 11 (C) 12 (D) 13
e . . L x2 -1 .
2. The number of positive integers satisfying the inequality a5 <3is
(A) 10 (B) 9 (C)8 (D)7
3. The complete set of values of 'x' which satisfy the inequations : 5x +2 <3x + 8 and
X*2 < 4is
(A) (=, 1) (B) (2, 3) (C) (==, 3) (D) (=, 1) v (2, 3)
4. The number of the integral solutions of x> + 9 < (x + 3)2 < 8x + 25 is :
(A) 1 (B) 2 )3 (D) none of these
4 3 2
-3 2
5. The complete solution set of the inequality XZ# >0is:
X< -x-30
(A) (-, =5) L (1, 2) U (6, ) w {0} (B) (-, =5) w1, 2] L (6, x) L {0}
(C) (o0, =51 U [1, 2] U [6, ) L {0} (D) none of these
6. Number of positive integral values of x satisfying the inequality
(x—4)%°13 (x +8)2M (x + 1) <0
X208 (x _2)3 (x+3)° . (x—6) (x+9)2012 =718
(A)O (B) 1 (C) 2 (D)3
7. The number of real roots of the equation |x|2— 3)x +2=0is:
(A) 1 (B) 2 (C)3 (D) 4
8. The minimum value of f(x) = [x — 1| + |[x — 2| + |x — 3| is equal to
(A) 1 (B) 2 €)3 (WRY
9. Solution of |4x + 3| + |3x — 4| =12 is
7 3 5 2 11 13 3 7
RWx=-5, >  @Bx=-5,7 ©Ox=-—,— Ox=--,¢
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If [|x = 1]- 5| = 2, then number of distinct values of x is

(A) 1 B) 2 €3 (D) 4
Solve forx e R }*—x—-6|=x + 2.
(A)x e {2, 4} (B)x e {~ 2,4} Cyxef-2,2} D)yxe{-2,2, 4}
If [|x — 3| — 4| = 1 the sum of values of x is
(A)3 (B)6 €9 (D) 12
Sum of the solutions of the equations x? — 5|x| -4 =0 is
(A) 8 B) 2 (C)10 (D)o
The complete set of real 'x' satisfying |[x = 1| = 1] < 1is:
(A) [0, 2] (B) [- 1, 3] ©)[-1.1] (DN, 3]
Solution set of the inequalities [x° + x— 2| <0 and [x2 —=x + 2| > 0 is
(A) xel[-2,1] (B) [-2, 1] ©) 2. 1 D) {~2,-1,1,2}
If a* - b® = 1 then the value of log,(a°b*) equals
(A) 9/5 (B) 4 )5 (D) 8/5
1 1 1

1+log,a+log, c * 1+log, a+log, b * 1+log, b+log, c has the value equal to

L

(A) abc (B) b <o (D)1
1 + L has th I It
as the value equal to :
IogJE abc IogJa abc log _ b g
(A) 1/2 (B) 1 )2 (D) 4

Which one of the following is the smallest?

3
1 1
2 I
(A) log,on (B) \/log;,m © (loglo nj (D) (loglo ﬁj
log,4(log,3) + log,,(log;4) + log,,(log,5) +........ +10g,,(l0g,,31024) simplifies to
(A) a composite (B) a prime number
(C) rational which is not an integer (D) an integer

T

The solution set of the inequality log [ ](xz -3x+2)>2 is

(A) (%2) (B) (12] (C) BJ)U(Z,%} (D) None of these

If log, ,(x-1) <log, ,, (x—1), then x lies in the interval
(A) (2, ) B) (1, 2) ©€) (-2,-1) (D) none of these
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23.

Solution set of the inequality 2 - log, (x* + 3x) > 0 is :

(A) [- 4, 1] B)[-4-3)vw(01]
(C) (= ©,=3) v (1,0 (D) (o, - 4) 1 x)
24. If x, [x + 1], |[x — 1| are three terms of an A.P., then number of possible values of x is —
(A) 1 (B) 2 (C)3 (D) 4
25.  Number of real solution(s) of the equation |x—3|3x2*10X+3 =1is:
(A) exactly four (B) exactly three (C) exactly two (D) exactly one
-
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